A 4

KEMIEAHEREETEHILIHRES FR25FEFTE(E)
1 A
(D
Fl =
— FHHE B =
B I8 B
1 8E€ |1 8E€ (1 g%
25,451,000 X¥EmLY
2 #WEE (1 WEhE |1 wmEE
3 FINA |1 FEURA [1#A
1,000 FEEFER
mASET 25,452,000
2 %
()
Fl =]
n FH4E # %
ES I8 B
1 2BR 1 238
8,000 HESELY
1 E"E"ﬁ e =
2 BEBE |1 BHE
67,000| HESEEEHE
2 BEE 1 BXE 1 £X£B QS =TFANRBTRER 8,730,000/
GE{T#2% 14,801,000 -##BN< 5,400,000HEE
IX A 671,000M)
A TANRF DR E 420,000™
(EEmEEERS)
TIVREIFEE2HYL—EITRFER  15,145000M
GE1T#E 17,179,000 -##B1< 539,000 EE N
A 1,495,000M)
TRURR—F DR E 1,081,000
(RMEFTIERRES)
25,376,000
3 FHRE |1 FHE 1 FHRE
1,000
mHaE 25,452,000




